SHM7ETRA228 BEANLBR (BREH)

(T = &) #KEABRRREXANEERX EROTKETEtLYS— RUERHESRHFEXREHRIS
AREDES X IFHE ARLEEE (M) | HEHRE () | LWeE (M) m =
iR ETH 26,850,000
BEEET 26,800,000 2,680,000 29,480,000(3%4L
WERESESR 26,900,000
HEPE S 27,000,000
WEAESEHR 26,950,000
(T = 2] ERREESRARSLEDEXETS
AREDEE XIFHR AMLEEE (M) | HEHE () | LWEE (M) m =
wiREETH 38,200,000 3,820,000 42,020,000|3&4L
BEEET 38,320,000
WERESHSR 38,350,000
EHEPE S 38,280,000
WEAESER 38,400,000
(T %= 2] HREFERROXNEER RAEMAEGEMUIE
ARLE DESXIEHE ALEEE () | HEHRE () | ZWEE (F) B =
L EE 6,790,000
EEmE 6,760,000
R 6,780,000
BARER 6,770,000
RBIEER 6,750,000 675,000 7,425,000 3%4L




(T = £) BHIFEITEAY

HXEREBIE

AREDES XIFHE ARLEEE (M) | HEHRE () | LWeE (M) i
H O 3% {5 08) 1,800,000 180,000 1,980,0003&4L
B ED R b 1,815,000
(T = &) FEREGFIEAER HARREILE
AREDEE XIFHR ARLEEE (M) | HEHE () | LWeE (M) 1
H O & fi) 1,700,000 170,000 1,870,0003&4L
DR 1,710,000
(ZExpa) EEBRRERER 2RI BRETZERE
AREDESXIFHE ARLEEE (M) | HEHRE () | ZWeEE (M) 1
AR A 6,500,000 650,000 7,160,000 3%4L
INFRERART 3 VLB > b 6,620,000
CEE S 6,520,000
WoETFy Y 6,620,000
WRI—> % 6,560,000




(Zx%%4) EEXRERSEETE HbERTHERTES
AR E DB XILLFR AR &% () HEBHE () 2i&EE (M) it
R RI B R ET 6,600,000
INKEf OV HILE Y M 6,680,000
EEEAE 6,500,000 650,000 7,150,000 3% 4L
@Y/ BB EtHt 6,650,000
BEIVHILAY MW 6,700,000
(1 # %] ERFEREERBEEFEE T—XI—-LIXTLEHFEA
ARLZEDEEXIELFR AfLEEE () HBHE () 2eEE (M) i
WAX4r Yy HIRIE T B
BWAILT 6,500,000
LY HIRZIE T B
HWEOAS HIRZER T B
BEX HIREERT 5,460,000 546,000 6,006,000 3% 4L
(1 # %] ERFEREERSSEFEEE OEHETEACEBEEA
AR EDEEITLFR AfLE%E () HBEHE () LeEE (M) i
ARy §I%IE ¥ R
BWAILS 7,700,000
LY HIRZIE F I3
WEOS HIREER F I3
EEX HIREERT 6,500,000 650,000 7,150,000 &AL




